Husqgvarna

22

)

23

Form No. SCI-0005 Rev. A 04/2005

ASSEMBLY

GAS SAW

VACUUM B.B. COVERS, X2500 G2000/X2500/X2509
505494004
505748301 Insert 1/2-13 x 5/16-18
ITEM NO. PART NUMBER DESCRIPTION QrTY.
1 99-250-X1008-67 COVER, B.B. W/ DUST PORT 1
2 99-250-X1008-79 COVER, OUTER LEXAN, X2500 1
3 99-250-X1008-80 CHANNEL, OUTER X2500 1
4 99-G20-1550-00 Block, Diverter Mt 2
5 09-G20-1554-00 Bracket, Angle Diverter 1
6 99-G20-1639-01 Knob, BB Cover 2
7 99-G20-1657-00 Extension Plate, Blade Cover 1
8 99-G20-1560-01 Angle Diverter, BB 1
9 99-G20-8556-02 E-clip, 1/4" Dia 2
10 99-G20-8557-00 Washer, Bellevelle 2
11 99-G42-4542-00 EXHAUST TUBING 4" 1
12 99-280-7006-01 SHCS 10-32 X 3/8 4
13 99-280-7018-09 Washer, Split #10 12
14 99-280-7510-04 Washer, Flat #10 2
15 99-G20-7506-12 SHCS 10-32 X 5/8 2
16 99-G20-7507-05 FHS, 10-32 x 1/2 S.S. 4
17 99-280-7020-04 Washer, 3/8 Delrin 4
18 99-280-7020-01 Washer, 3/8 Steel 2
19 99-G20-7503-05 SHSB, 3/8 x 3/8 2
20 99-G20-7506-11 SHCS 10-32 X 1/2 6
21 99-280-7007-02 FHS, 1/4-20 x 3/4 S.S. 3
22 09-250-X1008-81 COVER, INNER LEXAN, X2500 1
23 99-250-X1008-82 CHANNEL, INNER X2500 1
24 99-G42-7004-00 THUMB SCREW, 5/16-18 X .750 1

SUB-ASSEMBLY BILL OF MATERIA

SOFF-CUT INT'L, INC. CLAIMS PROPRIETARY RIGHTS TO THE MATERIAL DISCLOSED IN THIS DOCUMENT. THIS
DOCUMENT IS PROVIDED IN CONFIDENCE AND MAY NOT BE REPRODUCED OR DISCLOSED WITHOUT

WRITTEN PERMISSION FROM SOFF-CUT INT'L. ECOPYRIGHT 2005, SOFF-CUT INT'L, INC. ALL RIGHTS RESERVED.



h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text
21

h103738
Line

h103738
Typewritten Text
24

h103738
Line

h103738
Line

h103738
Typewritten Text
1

h103738
Typewritten Text
22

h103738
Typewritten Text

h103738
Placed Image

h103738
Placed Image

h103738
Typewritten Text
3

h103738
Typewritten Text
23

h103738
Typewritten Text

h103738
Typewritten Text
13

h103738
Typewritten Text
20

h103738
Typewritten Text

h103738
Typewritten Text
11

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Line

h103738
Line

h103738
Line

h103738
Line

h103738
Line

h103738
Line

h103738
Line

h103738
Typewritten Text
2

h103738
Line

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Placed Image

h103738
Typewritten Text

h103738
Typewritten Text
505494004

h103738
Typewritten Text
Husqvarna

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text
505748301 Insert 1/2-13 x 5/16-18

h103738
Typewritten Text


Saaiam

BELADE BLOCK COVER

|n'_1|-4.!n

SUB-ASSEMBLY BILL OF MATERIAL

s . SIS . B TRTRY



h103738
Typewritten Text
NA

h103738
Typewritten Text
NA

h103738
Typewritten Text

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Typewritten Text
10

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Typewritten Text
9

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text
6

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text
12

h103738
Typewritten Text
13

h103738
Typewritten Text
5

h103738
Typewritten Text

h103738
Typewritten Text
16

h103738
Typewritten Text
4

h103738
Typewritten Text
8

h103738
Typewritten Text
13

h103738
Typewritten Text
12

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text
7

h103738
Typewritten Text
14

h103738
Typewritten Text
13

h103738
Typewritten Text
15

h103738
Typewritten Text

h103738
Typewritten Text
17

h103738
Typewritten Text
18

h103738
Typewritten Text
19

h103738
Typewritten Text
2

h103738
Line

h103738
Line

h103738
Placed Image

h103738
Placed Image

h103738
Placed Image

h103738
Typewritten Text

h103738
Typewritten Text

h103738
Typewritten Text


	Sheet1
	Drawing View1




